Math 61 Spring 2006 Name:

TEST #3 @ 130 points SOLUTHOMS

Write in a neat and organized fashion. Use a straightedge and compass for your drawings.
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2) Given: AB and AC are tangentsto 0O, mLACB=70°, AB=5cm.
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4) Given OO with m/AOB =56
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Find and use correct units:
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5) Simplify the following trigonometric expressions:
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@) Sketch a right triangle that has one acute angle #, and find the other five trigonometric ratios of 6 knowing that
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8) From the top of a 180-ft lighthouse, the angle of depression to a ship in the ocean is36°. How far is the ship form the

base of the lighthouse?
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9) Prove ONE of the following locus problems. Do not prove both.

I The locus of points in a plane equidistant from the sides of an angle is the angle bisector.

1)) The locus of points in a plane that are equidistant from the endpoints of a line segment is the
@ perpendicular bisector of that line segment.
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EXTRA CREDIT
Choose ONE or TWO of the following problems:

(1) @ 10 points

A water tower 30 m tall is at the top of a hill. From a distance of 120 m down the hill it is observed that the
angle formed between the top and the base of the tower is 8. Find the angle of inclination of the hill.

(2) @ 5 points

A circle is inscribed in the triangle ABC as shown.
AB=14,BC =16,4C=12.

Find AM,PC,BN .
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(3) @ 5 points

Verify the identity: tan” x — cot” x =sec’ x —csc’ x
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